Reg. No. : ... | SME-46

SECOND YEAR HIGHER SECONDARY MODEL
EXAMINATION, FEBRUARY 2020

Part — 111 Time : 2 Hours

COMPUTER APPLICATION Cool-off time : 15 Minutes
(COMMERCE)

Maximum ; 60 Scores

€

eneral Instructions to Candidates : \

® There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.

3308053965353 auomgm?dagaomaa :

¢  0ddley MLAGIM 006 15 AT ‘@B 6000 ©6So” DeMBOVBIan)o.

® ‘9B R0l 09S0" GalIBIINBWD alTlal®e|SIMo DAMOMBUWD  @YAVY®EMo
£121QJOM)o DalGOTIH0) .

®  DTMOIBU af)PIMIN@IIM DM G2IBIEIBUD UIRLIALBY o Qo e9emo.
¢  M363UEBUd @IAIM)o UBRLIABAe AIOWIBREeMo.

® BMAS BFENGUB, 2(@BAB, aNBWB, oIVl DOMOCAla|CITE GOHAN
omMeoXfalesamo.

®  Gal0BiENU MEIISTIEIL Mefllwlgee.
®  ERHAUDIMBS TLOLIDI) TLAAIIDIETBUD HBISIBOEMo.

® CEIUIMBRB  OQPOIMOBHOTD  HOBINCRIGNDHRB BB B0}
EDLIBESITM S Dald0emalle al@l@:Ha00G8 HalcIUIB6)AI0ME alosle). /

SME-46 S 1 P.T.O.



PART - A

Answer any 5 questions from 1 to 6. Each carries 1 Score. : Bx1=5)

1. Which among the following is NOT a loop in C++ ? (While, Switch, For)

2. What is the maximum array index that can be used with an array of size 10 ? (9, 10, 11)

3. Pick the character function from the following :

(abs (), Isdigit(), strcpy())

4. Which among the following HTML tag uses ‘href” attribute ?

(<a>, <OL>, <UL>)

5. Find out the DCL command from the following :
(DESC, SELECT, GRANT)

6.  Name the tag used to include scripting code in HTML page.

PART -B

Answer any 9 questions from 7 to 18. Each carries 2 Scores. 9x2=18)

7. Write any four C++ statements to increment the value of a variable *x’ by 1.

8. Complete the statements to find the sum of all elements in the array ‘int num [10]’

for (i= ; i< ; ) sum = sum + _ __ ;

9.  What are the advantages of modular programming ?

10.  Give definition for the function ‘product’ that accepts two integer values and returns the
product of the given values using C++ '
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10.

PART - A

1 2)©@ 6 AO0WSH ¢2103iIBHIGI aBe®Eslene S aIRATIM 2OMOOHALIE)H:. '
1 capod all@o. Sx1=5)

@owa&osgmmmagcmomﬂws C++-ee1 Loop @pgpomem® ? (While, Switch, For)

0eaVaV’ 10 @R array @)es index @ry©) AieamM aggale ciellw aflel og® ?
9, 10, 11) '

21)01es GalBeemmaiaii@daiian character function @lee6aTINS)H6 :
(abs (), Isdigit(), strcpy())

®06¢ esos)idlenmm HTML somaglad ‘href’ attribute 9aicouflaoym tag
aR@o6Mm ?

(<a>, <OL>, <UL>)

9619 O30S)MAURAB3 allanye DCL command &66me8omm)d» :
(DESC, SELECT, GRANT)

HTML caledl@? scripting code 90360a1S)0mo8 9alc@oufl@nam tag ag@oem ?

PART -B
7 2)®@3 18 Q10088 G193 3emS] @3 ogwmaﬂel;o 9 ng)ggcmﬂm DOMAODY)ON .

2 gapod all@.. , 9x2=18)

X’ af)am emczﬂ@mﬂgﬂm@ allel 801’ @)5)0M88 agemeslele moei C++ statément
BUB )9} ).

‘int num [10]’ agyan ARRAY @Rl af)Ljo MVoslihS1e5W)o @ &HIsMAIMS3
statements-6(3 l§)Gal0@EONo al)@lallae)d.

for (i= ;i< ; ) sum = sum + __ ;

Modular Programming-e03 203 af)damoess ?

oene integer afleldud aviladleem®)o «;ﬁmwgms MM abllo return §alQ)db®)o
ea1gnam ‘product’ agyam C++ function-eag definition ag)9)m).
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11.

12.

13.

14.

15.

16.

17.

18.

Write HTML code to

(a) Divide the browser window into three columns.

(b) Load ‘first.html’ in the first column.

Consider the following Java Script code

Var a, b, tot;

a = “25”; b = 25;

tot = a+b

(@ Give the datatypes of the variables a and b.

(b)  Predict the value of ‘tot’.

Jaimy has developed.a website for her school. What are the steps she should take to get

her website available on the internet ?

List any four advantages of DBMS.

Consider the following relation in RDBMS.

Name | CE | TE

Diyon | 19 | 56

Johan | 20 | 55

(@ What is the degree of this relation ?

(b)  What is the cardinality of this relation ?

Explain any two aggregate functions in SQL.

Name any four ERP related technologies.

What is smart card ? Give an example for smart card.
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I1.  ®06¢ ato@am aooyendancalsne HTML code ag)9yms.
(@) Browser Window-6@ @)am] c8:08an80@ aflesilee)w. 1)

(b) @B eSO ‘first.html” ag)aM Caltd GRIDAW)P2IQN. @

2. @06y 6s05)00ildleeam Java Script code @dUlen)®
var a, b, tot;

a = “25"; b = 25;

tot = a+b
(@) cudwmig)saow a, b agarlaiwes datatype of)9)®)o. 1)
(b)  ‘tot’ apam cudlenilglond afler agamoidieno (1)

3. modl @ragles aveglmcasl 8o) aamivaaug afldaala)). 0 amem“aém)gmm
DMBOMGIGE L1 §M0BH)N1008 CAUETE (I(BIQBUD a)OITNIOBHWET ?

4. DBMS-603 cgo®@e3leilo ML CAMSDUD af)9)®)d.

15. @069 605)00idlee)an RDBMS relation al@lwenl o).

Name | CE | TE
Diyon | 19 | 56
Johan | 20 55

(@)  gno Relation-oag degree ag@@o6m ? 4))

(b) g relation-ead cardinality ag)(@@0o6m ? 8]
6. SQL-QEI aBo®BIel)e eme Aggregate Function-£68 aflvodledlon)s.
17. agoomsslen. moei’ ERP @rymimiaw quocs:aie:all3idh8ies Calowim)d.

18. 2085 @08 ag)imO@3 a0 ? MUR0ABT B$H0BWIMY B0} OBIaODEMo alf)P)®)B>.
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PART -C

Answer any 9 questions from 19 to 30. Each carries 3 Scores.

19. State and explain any three ‘Jump’ statement.

20. Consider the following two loops (1) and (2).

(1) For (i =1; i < 5; i++); cout <<i;
(2) For (i = 1; i < 5; it++) cout <<1i;
(a) find the output of (1) and (2)
(b)  explain the difference between the loops.

21. Givenanarray char first[ ] = “School”;
(a) What is the output of cout<<first; 7
(b) What is the output of cout<<first[1l]; ?
(¢) What is the size of the array *first’ ?

22. Consider the following C++ code :

(2)
(b

23. (a)
(b)
©)

int a = 10;
int main()
{int b = 20;}°
Identify the local and global variable.

Compare local and global variables in terms of scope and life time.

Expand HTTPS
What is the port number for HTTPS ?
What is the advantage of HTTPS over HTTP ?

24. Write HTML code for creating the following table ?

Class Group

Cl

Commerce

C2
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PART-C .
19 2)®@3 30 0160W)8s ¢a1033EBHIC3 aBO®E1LI 9 af) ROTIM DCDOHAYL®)b>.
3 capod allee. 9 x3=27)

ago®®slene N’ ‘Jump’ egugOaniBRIOS Galen)di Alluodle:dlee)w.

@906)% C»IS)TNBIE6TN 100ps-&HUB (1) Do (2) Do a1BlWETlEO)H>.

(1) For (1 = 1; i < 5; i++); cout <<ij;

(2) For (i = 1; 1 < 5; i++) cout <<ij;

(@ (1) o3 (2) 6d)o output af) Q@) 2)
(b) a1 ®alenss i@ PV Alluodle:dlee)d. @)

@aldleeyan Array UdRUlEe) .

char first[ ] = “School”;

(@) cout<<first;-eqjoutput a9 ?

(b) cout<<first[1l];-eajoutput af)9)m) ?

(c) eafles ‘first’ oMM Array Q)OS size ag)@@osm ?

@06 OS)OEIEmaN C++ code a1dlneNIlea) :
int a = 10;
int main()
{int b = 20;}
(@ o3 local, global ag)a7fl caIdl@MIB)BUD SHeEMBOND. @

(b) Scope, Life time agyamiaieo® madaldaoil local, global caidlwenugies ]
@OO®AL0 M 1Y, ' - (2)

(@) HTTPS-03 e Ok a1
(b) HTTPS-003 Gatods mmUB aga ?
(¢) HTTP-e@es006d HTTPS-008 cam@ og)am ?

@06 OB0S)oNGIeeN table ail@anilonan@imoaivoi@ow HTML code af)9)®)d>.

Class Group
Cl
C2

Commerce
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25. Give the tag, attribute and value combination to display the following items in HTML

form
(a) A box to enter password.

(b) A box to enter multi-line text in three rows.

26. “Most CMS help us to create Responsive web sites™.
(a) Expand CMS
(b) Give two examples for CMS

(¢) What is the meaning of ‘Responsive web sites” ?

27. Consider the following table STUDENT in SQL.

AdmNo. | StudentName Age

3001 ElenAnn 18

(@) Write SQL commands to create the table with suitable data types.

(b) Write SQL command to insert the given row into the table.

(1)

)

1
@)
)

28. ALTER Command in SQL is used to change the structure of an existing table. Explain

any three clauses used with ALTER command.

29. Explain any three benefits of ERP.

30. As our dependence on the cyber world increases, we naturally tend to be the victims of

cybercrimes too. Specify any three cybercrimes against individuals, we must be aware

of in cyberspace.
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26.

29.

30

SM

HTML form-a3 oyoee alo@am item display ©21Q0MBR tag-90 Attribute 9o value 9o
DI}

(a) moau"csmau“s)svs%;g 921Q0m)8s Box. 1%)

(b)  mvaidlesss text 96Sa[1021Q0M)8s box. 1%)

"21990100)0 CMS-6,¢3 Responsive web sites W doale60ad meon mmo’lmﬂoeégm)g”.

(a) CMS-oa3 al)dgpojalo ) 91O )
(b) CMS-avome” 9B2aO0MEIRU3 ) 9))>. ' §))
(¢)  ‘Responsive web sites’ af)INBEIH6ME” @ADOAIHNMD ag) ? 4]

®06% adosiomdlanmm SQL table ‘STUDENT’ aldlnemlae)s,.

AdmNo. | StudentName Age

3001 ElenAnn 18

(@) BRMCWOR NI data type-a U3 Dal1GIUfla 9] esenilyd
B2l 8e0moniomo® SQL command ) $) D). '

(b)  @amidlesym Row &0 table-@3 Insert £21Q0mM88 SQL command 0@)@2@3@):

SQL-eer  ALTER Command delalenss esenfiglod  apism 20Qoa3
2oleoulleem). ALTER command-c3 2ICRIASNM agomEilelo 2yam’ Clause-
SR aflvodleolen)s.

ERP-w)os BO®BIL N0 2 A llvodle@lee)e.

ONTVNUB  CLIVG:ODD) (G@(uomﬂ.ﬂogcmroﬂmmgcm(&g m@B  eeaTLeNIA >)Q
OIDWHOS  MOBBOBOM)BS TLORL Y W)o SISj@enalaio)m).  eeqvmid
CRIOSHO® Mmaard SO)olaidlesneme, anemiedes cmeo MBI BT
OOAVMIA B)q ByMIIBGA QI SSDR0H6)) .
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32.

33.

PART-D

Answer any 2 questions from 31 to 33. Each carries 5 Scores.

2Zx5=10)

(@) “<s> is an alternative tag for <STRIKE>", Likewise, give the alternative tags

for <STRONG> and <EM>.
(b) Explain Hexadecimal color code in HTML.

© What is the Hexadecimal color code for ‘black’ ?

@)
@)
)

(a) Use suitable terms from the given list to complete the Java Script function to

display the square of the number given in a Text Box named txt Num
display ()
{

num, _____ 7

num = . frm sgure.txt Num. ;

sqr num . * num;
— (sgr);}
(var, document, alert, case, function, IsNaN, sqr, value)

(b) Describe any two ways to add scripts to a web page.

Given two union-compatible relations “NSS’ and “ASAP’.

Write the relational operations to create relations which consist of
(a) The students in Both ‘NSS’ and ‘ASAP’.

(b)  The students in ‘ASAP’ but not in ‘NS’

()  The students who belong to ‘NSS” or ‘ASAP".

(d) What are the features of union-compatible relations ?
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PART -D

31 2)®@8 33 Q160W)8S ¢21033SI03 agomesleno 2 a@%m1m”@mcsémw;m;a,.

5 capod afloo. 2x5=10)
31. (a) “<s> tag <STRIKE>" tag-m) al&0o 9alCQOUlanianam@oa ” @m)Galoae!
<STRONG> tag-mjo <EM> tag-M)o al®0o alcouileeoanmm Tag-&uB agai ? (2)
(b) HTML-ee1 Hexadecimal 83 6200068 algl alvodle-clan)s. )
(©  @0pflom piailoflufledleemn Hexadecimal $:8@ o0 aga ? 4}
32. (& ©29¢9 o30S ONBlEMMAUXIT DaflRIWaIBERRB Oale@oufla txt Num

(b)

o) caidlenss Text Box-@d @avidleman aveauy@es aidyo display
©a1Q0omM88 Java Script code a1)Boriie0lee)s.

display ()
{ __  rum, ;
num = . frm squre.txt Num. ___ _ ;
sSgr = num * num;
(sqr);}
(var, document, alert, case, function, IsNaN, sqr, value) . (6x%=3)

oo’ call@d  scripts-2udaaIS)MMEIM Qalcwoudlemmm oeme dloiaud
(ITlaloREe)b. )

33.  Union-compatible @@ oene relation-m@mid @mem’ ‘NSS’ 9o ‘ASAP’ 0o. @oew

alo@) relation afidezlammaimoaivoy@ow relational operations af)O@IODS ag)am’

)9}
(@ ‘NSS’ eip ‘ASAP’ el)o 988 )51, . @)
(b) ‘ASAP’-@3 988®)0 af)MO@3 ‘NVSS’ @3 @gdommg“om) &)1, (1)
(©) ‘NSS’ eeio ‘ASAP’ cero 988 @n)glandd. )
(d) Union-compatible @y relétion-m@ (G BB HUB af) HTNOHS ? Q)
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